7o 10 Frie F opgelf orgt e-gRas & #% #H FrT siloqHodio T VA% % FH% § T #V & A dflo o dRo
T % 7 FeT-gRaw @ #F F7 & a 3% oreers & daT aWe JeT-gRawT T

Level : 3 Exam. - 2021
PGT : For Lecturer s o CIOLO GY
(Sub. Code No. : 312 | -G T F SRoTRoATTo

Question-Booklet Serial No. & O. M. R. Serial No.

st (st %)+ [ ]

Roll No. (In Figures)

RIS (9= F) ¢

Roll No. (In Words)
Tl &= B AH

Name of Examination Centre

e AW Il B TERER ¢

Name of Candidate Signature of Candidate

[W S-gRee gt A Hen 4g | T W T 150 ikl 2% hours ]

No. of Pages in this Question Booklet No. of Questions Time

friiss & SWER (Signature of Invigilator) :

et & 10 fre 1 g ge-GRae W 89 R 1 0o qo SR T § o ReRer A & e Rar sem af ge-gRaw 9 SR o H
F HEA T Sk B @1 T w o 8 Faed e IeT-JRaw Sad ol 36 U9ER Bl o ©eR e B sem 39 10 Bl &
AR, Sefl % IR b H B U T 2% €2 B qE A oo IR AR i A yE-Rem A R M AR Aym A MM PR W A
WE & A D R sraiE B ol aig & SR Sae 3 & R e Rar som or: st FeiRa o & AR 59 @ ¥ S
gfaeT 9IS T ¥ T AT T ¢l §H A & 9%, 39 e § 09 Sfeed W B8 R T8 R smem

[ IR Rl o & R 9 SN mreaw F R & A ofdioh e @ g S W STem j
If .

there is any variance between Hindi and English Version of any question then English Version would be considered correct

IRGt 3 T ¥ INSTRUCTIONS FOR THE CANDIDATES) :

1. SNCHAR. IR T 30 I-GREH & = W@ 81 o A0 ST-GRH e H el A, A IR G e B A { e
A T @Re ¥ fFEwr W (The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the
Question Booklet, take out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.)

2. TUET H A 2% €€ B Ud UeT-GRAH H 150 U 2| WS FOUGW IFT T 81 (The test is of two-and-half hours
duration and consists of 150 questions. There is no negative marking.)

3. T faaRer oifFd & Td IR TF W HIH T & U daa @ 9 9me W F@E BR A=t geT-gRaw @ Swm

Td I TEF B WA H GE@YM! XAl (Use Black Ball Point Pen only for writing particulars on this

page/darkening responses in the Answer Sheet. The candidate should remain careful in handling the question paper
and in darkening the responses on the answer sheet.)

4. 579 10 foee ¥, 7 o gRled &R o R ue-gRaew #His ofR IR Wb HHi% Th & & oFR 78 R & At sl gad
Hﬁﬁ-m R W % a9 & U e @ O AT BN (Within first 10 minutes, also ensure that your
Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy, the candidate should

immediately report the matter to the Invigilator for replacement of both the Question Booklet and the Answer Sheet.)
N

~

5. qaA-3 (‘JIEFR‘H ® ﬁﬂ) 5. Level-3 (For Lecturer)
-1 ¢ 9 faeE g e e (So 1§ Yo 30) Part-I : Child Development
qR-1I : W (l;[o 31 g Yo 60) and Pedagogy (Q.1t0 Q. 30)
@ﬁ . 15 us T SNl : 15 H-‘FT) Part-II : Laf1gujage. . (Q.31t0 Q. 60)
(Hindi : 15 Q. & English : 15 Q.)
-1 R S (o 61 & %o 90) .
3 = ; Part-IIl : General Studies : (Q.61to Q.90)
< ‘ : ;;lr%g;jr’ 10 ) F105, (Quantitative Aptitude : 10 Q, Reasoning
RURIEIER] 1058 Ability : 10 Q, G. K. & Awareness : 10 Q)
L HAT-IV. AR (1;{0 91 § %o 150) Part-IV: Sociology (Q.91to Q. 150) )

e : T g m & o ¥ Ry Ay 9 A W) (Please read other remaining instructions given on the last page of this booklet.)



% %4 & T (FOR ROUGH WORK)




[3] [A]
ART-I (PART -I)
919 9% 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. T gfs TOE fhed S 7 1. Who developed the first intelligence
test ?

(1) [aX (1) Lavator
(2) (2) Sanguin
(3) wI~ad e (3) Francis Galton
(4) oTehs fom IR dEEe (4) Alfred Binet and Simon

2. TSN H T S TS HAFIT B 2. A branch of psychology which
T & am "ﬁ Siiahd | iR, studies how people change physically,
deMTs 3R A &9 8§ 3d cognitively and socially over the
J5Ad &, Heawl 8 ¢ entire life span is known as :
OREREREICE] (1) Clinical psychology
(2) WA AR (2) Counselling psychology
(3) foeprETeTs FAIas (3) Developmental psychology
(4) YARTHS FAISH (4) Experimental psychology

3. fefoReg & 4 BT ST 3. Which of the following is not the
AER® 78 B ? innate motive ?
(1) guem (2) ™ (1) Safety (2) Hunger
(3) 9™ 4) fagm (3) Thirst (4) Rest

4. T8 O FE & “ThANERr I9m, 4. Who stated that "Adolescence is a period
o, oM oY Pl Sfae 37 7 of stress, strain, storm and strife" ?
(1) faferaw wgo @9 (1) William H. Barton
(2) & B (2) Stanley Hall
(3) Slo To SIS (3) J. A. Hadfield
(4) SF fEs (4) Jean Piaget

Level-3/312 P.T.O.



[A] [4]

5. f=fafed & ¥ d9-01 W g N 5. Which of the following is the highest
fere |iarwent RsT= &l I=aaw &K level in hierarchical theory of
g7 learning given by Gagne ?

(1) 991 991 e (1) Problem solving learning

(2) T e (2) Principle learning

(3) 99 3T (3) Concept learning

4) E@%ﬁﬁ A (4) Multiple discrimination learning

6. fefeifad & @ $9-A g A= 6. Which of the following is the non

P TR THD © 7 projective technique of personality
measurement ?

(1) g uiafy (1) Association technique

(2) FENIHCE T (2) Sociometric technique

(3) & ufafy (3) Construction technique

4) E[ﬁ EIGIR] (4) Completion technique

7. fffad & @ SH-A1 OB 9GS IZ. Which of the following is not the
WS H AT TF& 2 7 characteristic of good mental health ?
(1) |idfes aRYead (1) Emotional maturity
(2) STATIIaTd (2) Self confidence
(3) AT (3) Intolerance
(4) STIH EI\RIFFT EIR L] (4) Capacity of self evaluation

8. ffifag & 4 fH-A1 U™ SiF 8. Which of the following concept is
s = o HeHes o Ria not introduced by Jean Piaget in his
¥ g ? Cognitive Development theory ?

(1) SAHETABIT (1) Assimilation
(2) FHIISEIHOT (2) Accommodation
(3) diblii® (3) Symbolic

(4) | (4) Equilibration

Level-3/312



9. e & & PM-A1 W6 =1 aRkA
3 faee & & ¥ S/ 3aX 3N
fraiftg =xon & @ 78 ' 7

(1) STuRspd Ha & =)
(2) ASIMEE B I
(3) ATHTHE TR0

(4) TRURE T & ATET

10. TSNS @M & AES-Ais
fRrsia & s & & ?

(1) Si9 s

(2) I T

(3) w4 A

(4) BrEATT

11. FHefag & @ s9-d afka Jo
& vt ufafy 78 2 °?

(1) o=z @re=d qler

(2) 9599 I AT & T
(3) @R gfd e

(4) FE FHaFE

12. Mg & & HN-@1 ®ed &N
guiied Al & TATHS [AA9D B
TER 78 T 7
(1) s¥gh
(2) di= =BT
(3) @ G
(4) Sfgard

Level-3/312

[5]

9.

[A]

Which one of the following stage is
not prescribed by James Draver in
the
character ?

context of development of

(1) The stage of crude emotion
(2) The stage of sentiment
(3) The self regard stage

(4) Conforming conventional stage

Who was the founder of socio-culture
theory of cognitive development ?

(1) Jean Piaget
(2) Jerom Bruner
(3) Lev Vygotsky
(4) Kohlberg

11. Which of the following is not the

type of projective technique of

personality measurement ?

(1) Word Association Test

(2) Woodworth's Personal Data Sheet
(3) Sentence Completion Test

(4) Thematic Apperception Test

Which of the following is not the
type of dynamic trait of personality
given by Cattell ?

(1) Attitude
(2) Urge
(3) Sentiment

(4) Conservative



[A]

1

g g @ & U aweh SETE
gl (e AR 8 Tehal § 7

(H28F 5
2)0F4ad
(3) 16 ¥ 18 a9
(4) 39 10 a9

frfafad & & M-8 paNEen H

fagwar 7&F ® ?

(1) HEfReE # 9% g7 IR F 9%
1 20% Bl Bl

(2) feara= 3= & wgiy sgdl o

(3) IEHIT TG AT B
(4) IFES IFFaE ST IRH °MT
W qgd SR B

frefofeg & @ ®9-8 IRERTT @&
o7y faQwar ® ?
(1) IpRer d§ &g # FEeR

AEIEl B ol
(2) ARMIRT =ger YO & 2

(3) ARBRG HIER & Wi HOR
Bl Bl

@) ARPROT TgE F FH qREdA
FHA Bl

WIhE-foH gfecfe ®a & AgER
G5 [ SC R G G| S T S 7 M
gfsater € & et 8 7

(1) 529 67 (2) 369 51

(3) 209 35 4) 209 9=

Level-3/312

[6]

13.

14.

15.

For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2 to 5 yrs.

(2) 0 to 4 yrs.

(3) 16 to 18 yrs.

(4) 3 to 10 yrs.

Which of the following is not the
characteristic of Adolescence ?
(1) Weight of muscles is 20% of

total weight of body.
(2) Tendency of day dreams
increased.

(3) Vocabulary too increases.
(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal oriented.

(2) Motivated

continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

to Stanford-Binet IQ
scale, what is the IQ range of low

According

mentally retarded children ?
(1) 52to 67 (2) 36to 51

(3) 20to 35  (4) below 20



17.

g & YA fsid & iU B
g7

(1) @ 9

(2) BeFgTRA

(3) B W
(4) So V-

fr=ifeifeg & & H9-91 t% omeEal @l
faQroarett & det ¥ 7T U R ?

(1) e fafdre Refg & @ @
yiafshar 2

(2) JEd AR H B & Sl
2

(3) STed oTedl dXE q diEr Y& 2

(4) AR ®ad GEF IRRYfET e
W eI Bl 2

fr=ifofeg & @ 9-a1 Rrsra oTfeM
& IO Rwra o gwetad 78
g7

(1) A g & T
(2) T gt & s

(3) TN a9d @ S

(4) =T @ RS

Level-3/312

[Z]

11.

[A]

Who the
Anticipatory theory of play ?

was propounder  of

(1) Karl Groos
(2) McDougall
(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is
the wrong statement in context of
characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit 1s acquired through
heredity.
(3) Habit is a well Ilearned

performance.

(4) Habit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline
(2) Theory of rote memory
(3) Theory of identical elements

(4) Theory of generalisation



[A]

20.

frefefeg & @ d9-91 IHSES ®
qrde s & o7 ™ 78 & °

(1) IEIush FfshaT T
(2) M HT §Y s

(3) TS Srgfehan &1 s
(4) FE wd e B s

21. FrfidiEd & & @A Sy

TS &1 SAGEIRE gRehIor & 7

(1) I FIER T &AM Hisd HA ol

(2) €I foRaTatl X &M ahivsd
T 2

(3) S Teael W Hi=d &

(4) J6Y [EBE H AT T HEd ol

22. fFr=fofed & | @9-a1 & gavghat

3 faQwaret & gt § Tgg Fe= B 7

(1) ey ST B B

(2) gavafy aga afFere S 2
(3) gavgh U Bl ol

(4) YRR ARG @9E ol

far, ol @9, 9w iR o= 3=
uHes WA @ S[El AR
TafafeE @ wer S R

(1) 37 =&
(2) |5

(3) TuI™
(4) FE@/aTE

Level-3/312
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20. Which of the following is not the

other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuses on overt behaviour.

(2) Focuses on cognitive processes.

(3) Focuses on the biological events.

(4) Focuses on critique of male bias.

Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called :

(1) Visual images
(2) Cognition
(3) Concepts

(4) Propositions



24. FHfag & @ - 9T

g7
(1) STfeFM s gfkar & 9 &% Sl

(2) A uRRA Hed SRR el
2l

(3) SIFW 1 8 9% B B

(4) TEaRy wd wfdy Bt ® aw
BN 99 FaeR & URgad o
A A S 2

25. f=ifiiad & @ dH-a1 Jo dio Frawe

N e g & RifatE aew & o
e favHas] H YER T8 © !

(1) TP
(2) et
(3) Hihich
(4) RIS

Frefafad & & ®9-a1 @ & dw

H o] bk FH o 7

(1) SAfFM — g7 9T — R —
REEIR]

(2) §T: RO — FARFH — gRT —
REEIR]

(3) HARFM — gF: TR — TEEH —
g

(4) HARFM — gRIT - G TR -
REEIR]

Level-3/312

[91]

24.

25.

26.

[A]

Which of the following is the false
statement ?

(1) Learning is a process not a
product.

(2) Learning process 1is always

purposeful.
(3) Area of learning is broader.

(4) Behaviour through
instincts and reflex actions are

changes

also considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural

(2) System

(3) Symbolic

(4) Behavioural

Which of the following is the correct
logical order of elements of memory ?

(1) Learning - Recall —

Retention — Recognition

(2) Recall -
Retention — Recognition

Learning -

(3) Learning - Recall —

Recognition — Retention

(4) Learning — Retention —

Recall — Recognition



[A]

21.

oLt & Q9T T Hawd & g
ARass I8@Y (A @ AU e
fopar o ?

(1) =
(2) W
(3) Sitea
(4) e

Frefifed & & @9-@ & &
qHE  Holl d N B Gl
T 78 ' 7

(1) O Sfefeand
(2) T

(3) SR

(4) STH HHM

29. FHffad & @ 59 &1 d9-@1 &K

T gEarl R @ Wi & 91
foarat =z FRERE B ® ?

(1) 389
(2) o1&Yq
(3) T 9Teq

(4) fom srpfer
Ty [y & S B & ?

(1) Sio o Jredas
(2) faweew goe
(3) f&mTE wEs
(4) So THo Fhad

[10]

21.

28.

29.

30.

Who propounded Brain storming
method for fostering and boosting
creativity ?

(1) Torrance
(2) Myres
(3) Osborn
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional energy ?

(1) Substitute responses
(2) Displacement

(3) Regression

(4) Self pity

Which of the following structure of

mind  directed according  to
Hedonistic and pleasure principle ?
(H 1d

(2) Ego

(3) Super Ego

(4) Choleric

Who was the propounder of psycho-
analytical method ?

(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell

Level-3/312
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[A]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

HIF-A qEE HEIgEh
JETET & ?

(1) g @ forn, 38 39 g

(2) i & TN Hg TG T B

(3) ¥ w9 fo T, o qer
TR H&

(4) S G9-GEET S

e Y|

32. ggfad fam 9= FW gHE o
TEEy

(1) fafyr — fg
(2) @@ — oo
(3) o — 7
(4) I/ — Bg

33. T Y& YT GEr Al @ o

ardf ® ¢

(1) 399 B | I a0

(2) 3@ § gEl W) 4 g
(3) HG¥H @RI BT

(4) TN T Tl

34. 79 & § @@ @ I 9= dHAE-A

g7

(1) g + ReX = gfafax
(2) T& + JURY = JA9EA
(3) AR + T = AT
(4) T + FIY = T

Level-3/312

35.

frfafag af & ded § PW-
foepea o ® 7

(1) I — diered, FUel, 99

(2) § — e, g6, Fgagal

(3) 9 — gy, =Y, FYT

(4) ¥ — g, ST, STE

36. W9 W g q FgAfa o @

T T
(1) ARMT = AR + 3
(2) aHH = qEF + 7

(3) U = 9 + 7
(4) Mg = ot + 7

37. Iuq 9 fffg st & dad § d9-a

e o7 & 7

(1) 9 — s, qiRwies, gy
(2) AT — YR, AN, FAEISR
(3) ¥ — g, FRBR, AT
(4) "feT — ot Scite, Sei

38. YE-VH H IR W FFIT FH GAC ¢

(1) Tl — de 9
(2) e — A6 9=
(3) 99 — TT I

(4) TEHITER — & =



[A]

39.

-l @ e | e 9w

FTGTTR ?

(1) gHF — YA B FHIA arel

(2) AR — W H g g AR

(3) aga® — I YA F T

(4) EMT — @S W) @Ak
EISIRCR

40. 71 ¥ 9 7T [THE TEAY ¢

(1) 9™ — 7= 9 Nia aaares
T3l

2) o — gdem | FiHd Aeams

G

(3) ARN — wrears |1 @ Sif
faror

(4) i — faquer | g
AdrEs |si
41. gﬁﬁg&ﬁ%—mm%ﬁ
?

(1) G g b — & &l S

HCT

(2) ST e THT @ A —
SEEA B qX SAfooT BT

(3) TR T H I — THAH e

(4) BT F Ge # A6 § FebaT —
SIFERTSTTH T SN BT

[12]

42. ‘A e Gaar 3 SHd A @l

FHHar H T

(1) @A fohehe Tl

(2) G Frdbe & S 2

(3) ®ieM 9§ Fhbe S S o
(4) afF & a} Brbe @a S Bl

43. =1 & & foom famew & &+ Framd

‘IFRHE T 7

(1) =, GEhTHT, e
(2) 3T, To, fore
(3) &I, @M, |

(4) T, IS, e

44. IR T G A HH-A [ed gAr

7 &7
(1) 3= | T3 R B
— foeiiesTas
(2) ¥ A H1 F& TE A
— Feygs ae
(3) & Tl & a8 ST S &l 37T
— ZT/EITS q
(4) T W A9 B AT @ @I
— Hphars ared
45. ‘TG, Ah, MG U= Frgeh wHgdrE
g7
(1) el (2) T=X
(3) Hoh (4) e

Level-3/312
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[13]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(1) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym

Level-3/312

50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) The landlord told him that if he
wanted to smoke he would have
to go upstairs.

(3) The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.



[A]

52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

1t :

(A) You should

(B) tell to me

(C) exactly what

(D) happened there

() A (2) B

3) C 4) D
Select the correct preposition to fill
in the blank :

They live ........ the same roof.
(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[14]

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

51. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the queue and got promotion.

(1) replace something

(2) hopping

(3) blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/312
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[A]

AR - ITI (PART - III)
9MY 379 (GENERAL STUDIES)

B ARG, i STEHAT T4T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

frdl MiRed f2 § MONKEY &
XDJMNL fa@n &S|, @@ TIGER &t
39 feren s ?

(1) SDFHS
(2) SHFDQ
(3) QDFHS

(4) UJHFS

62. 7T frar Mimd Yt & 9 * 3 = 36,

10 %6 = 64,9 * 1 =25, ar 36 Ye=
UX 23 * 3 [ {41 BT 7

(1) 169
2) 52
3) 32
4) 576

63. M 1988 ¥ 15 SR I & FE0

T oor, @ g8 1989 # fRg R wemn
T or Y

(1) d¥ar
(2) HIEER
(3) TvaIR

(4) PHAR

Level-3/312

61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDFHS
(2) SHFDQ
(3) QDFHS

(4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64, 9 * 1 = 25, then in same
pattern what is the value of 23 * 3 ?

(1) 169
2) 52
(3) 32
4) 576

63. If the Independence Day in 1988 was

celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?

(1) Monday
(2) Tuesday
(3) Thursday
(4) Friday



[A]

64.

o SR @ eX 10 fFdt =ar @
T2 6 U R @ e Twar ®
3% A 3 il @ &l T =
3l 9 98 AU RN fg @
feper foprdt e fhe Ram H 2 7

(1) 5t qfeem
(2) S foprit SR-gd
(3) 7R @

(4) 7 et uidem

65. U RF-RT T A 9§ E, T Uiad &

R 81 A, B &t R B ARXE, C
% S oK & O A & aEt &R
B, D & i &R B HN-1 8X UHaH
g { R ?
(1) A
3) D

2) B
4) E

deledl @ Th U § R & e
S8 § 8a1 & ol O & wW T |
1741 ¥ 3T J YU WH STEA-5d S
@ e 9 9 149 WN W S
R Uk & g feae agfer § 7

(1) 27
(3) 32

(2) 29
4) 30

0.3467 +0.1333 G| &R :
(1) 0.48

(2) 0.4801

(3) 048

4) 0.48

Level-3/312
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64.

Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5 km West

(2) 5 km North-East

(3) 7 km East

(4) 7 km West

65. There are five different houses A to

E in a row. A is to the right of B and
E is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

(H A (2) B

3) D 4) E

In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
if they their
positions, Shilpa becomes 14th from

right, interchange

the left. How many girls are there in

arow ?
(1) 27 2) 29
(3) 32 4) 30

0.3467 +0.1333 is equal to :
(1) 0.48

(2) 0.4801

(3) 048

(4) 0.48



68.

& e H ST U S0 BT

127, 128, 136, 163, 227, ......
(1) 352 (2) 350
(3) 357 (4) 341

69. AT A H o ‘e, B H o

‘gerg’, C & 3 ‘g, D & otk
U &, @ e B AR qW
1 BR ?

IS8A12C6D2BS5 =
(1) 25 (2) 27
3) 15 4) 17

A & T ER gEe § g g e
Hl ST B

a —cdaab —cc —daa —bbb — ccddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

711. BFE @ & oWiga ok aRdd &

Bl 1 ST BT

(1) 1:4 (2) 4:1

3)1:2 4 2:1

11, 11.11, 0.11, 0.011 I HoH¥oUo
BT ?
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111

Level-3/312
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68.

[A]

Find the next term of the number
series :

127, 128, 136, 163, 227, ......
(1) 352 (2) 350
(3) 357 4) 341

If A means 'plus’, B means 'minus’,
'divide by,
Then
simplified value of
I8A12C6D2BS5 =7
(1) 25 (2) 27

(3) 15 4) 17

D means
be

C means

‘multiply'. what  will

Find the missing letters in the given
letter series :

a —cdaab —cc —daa —bbb — ccddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

71. The ratio of the areas of the incircle

12.

and circumcircle of a square will be :
(1) 1:4 () 4:1

3)1:2 4 2:1

What is the HCF of 11, 11.11, 0.11,
0.0117?
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111



[A]

13. el ue § den e Mived

Yod W iR ofar war fomd
g ol 39 Yod & T iR g

g de (vearas f¥gd) S| S
6 11 | 25
8 6 16
12 5 ?

(1) 18 (2) 16

(3) 12 4) 10

& ST 132 HieX ud 108 HieX
Il T A foes R § o @
g Rrad 8 @ @ 3@ 32 Reiever
T A # 40 FElATe B R
q H 9 TH-GAC Bl TR HT STE 7

(1) 8 Fo
(2) 10 ¥o
(3) 12 ¥o
4) 11 Qo
A 7 955 7 HAA A 8 g H

wBd ¥ A, 70 T8 70 HRIA F TN
¥ fpam goe e ?

(1) 8gve

(2) 560 g
(3) 56 9%
(4) 70 gue

Level-3/312
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13.

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 11 25

8 6 16

12 5 ?
(1) 18 (2) 16
3) 12 4) 10

Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.

(2) 10 sec.
(3) 12 sec.
4) 11 sec.

75. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?

(1) 8 hours
(2) 560 hours
(3) 56 hours
(4) 70 hours



16. [ 9% & A 20% I S g, A

AT fhel SUHAET FW AU IIHA
g foha wfaed @ FH # @ I F
SH% @9 § ®ig gha el of !

2 2

(1) 162% (2) 152%

3) 17%% ) 16%%
2«2@ &1 A FT BT 7

(1) 0 2) 2

3) 1 4) 2%1/%

% 10,000 =pgls &1 & &9 H 5 a
T A & a0 8, @ 20 9§ 9¥Eg
Sl wepgfe &S @ W ¥ FE o
fepereT & ST ?

(1) % 40,000
(2) % 60,000
(3) T 80,000
4) % 1,60,000

AT B L1 10% a9 4 59 & &K B
93 CH 10% & § 9 & ag CH

g3l & e T 990 IHAT &, A FaR. A
- 39 Sl @l fobe @l o ?

(1) 2900
(2) 1,000
(3) 1,200
(4) %950

Level-3/312
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76.

11.

[A]

The price of any item is increased by
20%.
consumption of the

Find the reduction in the
item by a
consumer so that there is no increase
on his expenditure :

2

(1) 16%% @) 152 %
3) 172% @) 161 %
3 3
What is the value of 2\/27 V2242 ?
(1) 0 (2) 2
(3) 1 (4) 231/

A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :

(1) % 40,000
(2) % 60,000
(3) T 80,000
4) % 1,60,000

79. A sold a watch to B at a gain of 10%

and B sold it to C at a loss of 10%. If
C paid X 990 for it, then how much
amount paid by A ?

(1) 2900
(2) 1,000
(3) 1,200
(4) %950



[A]

0.

2: 5 STUN arcll S Sl § HiA-al
& SiEl o 6 oua geen @

YU 5: 68 & ?
(1) 12 ) 11
3) 13 (4) 14

RO’ ATE GRET BT TR AT
S B
(1) a1 T e 9T gR/

(2) BRAT Ao STREH! &RT
(3) BRA™T §&pd HBEH &R
(4) RN & g9 St 3

82. ffoiad & & #F 2021 # ‘9w

o7 A<Tbdt & 7
(1) ST FEE Nad
(2) dt= fHe

(3) Tl T4

(4) 9 g

83. T/l Wl ffved aiig, fSreH/foH

qMER H ST A §
(i) suaRd

(ii) ™ = B AEN A
(iii) P

(iv) B =

7& HE F T HOT
(1) e (i)

(2) (i) &R (i)

(3) (), (i) ¥R (iii)

4) (), (i), (iii) 3R (iv)

Level-3/312
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80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto5:6?

(1) 12 2) 11

(3) 13 4) 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3) Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82. Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh

83. Identify the text/texts, in which the

reference of Thanesar is found :
(1) Harshcharit

(i) Travelogue of Yuvan Chang
(i11) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (1) and (i1)

(3) (1), (i1) and (iii)

4) (1), (i), (iii) and (iv)



84.

Freifciga & @ f6d T4 &1 Sg™
W oI °

T IFM A
(1) T — BB
(2) F=r — T W weE
(3) AHTST — T?lmﬁﬁaﬁr
qatrear
(4) e — A @ v

85. f=iiciiga & & fhad doe w

BRI Ie= AR & g g
% &0 H B o (e ?

(1) s JH8 T
(2) SIR<H To FHo Hibdl
(3) Site" THo THo SN
(4) SIReq G e @i

‘FIOTETg 39 Y9 @A AR ©

(1) eRaen T 4§ WH Ui &
T H &g

2) IR e @ e
JeEE § fadE "@eEdr $eN
F &

(3) -t WAked  FhE @)
S gEEe # o Ted JeN
F &g

@) =l W F g @ e &
qUUT &I Medfed FHH e

Level-3/312
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84.

[A]

Origin of the which of the following
rivers is not correctly matched ?

River Origin Site
(1) Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

85. Who among the following did not

serve as the Chief Justice of the
Punjab and Haryana High Court ?

(1) Justice Mukund Mudgal
(2) Justice A. K. Sikri
(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

'Pran Vayu Devata Pension Scheme'
is aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical

staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.



[A]

81.

frticifee eRamom & toouet @
feheeh e 98 T Ted g ger ?

(1) dto THo TEhadil

(2) TmIG 4 &

(3) Jo THo &P

(4) 9ER To THo sX

Recll-T=8 Sl HReR & S
ghaen ¥ veaiag fEsr as/ehEie
8 7 9 Jqfafad & § dH-a1 Tad
g7

(1) e — Yodad STEnfies &

(2) [@E — AR Ry 8=
(3) FHESel — WU Fasr &

(4) IMEX — S99 a9 &

89. ERAMM di TaT MERT o fFT W

A H IR F qME Arae
H TR HA B

ooooooooooo

ORE

(2) rgafd

(3) "E

(4) T fagm |9

siar & Reciedl a1 el Uit
2021 7 Sfid T HAT T©@F ¢ -

(1) 04
(3) 08

(2) 06
) 19

[22]

81.

Who among the following Governors
of Haryana died while in the office ?

(1) B. N. Chakraborty
(2) Ranjit Singh Narula
(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

89. The

about the proposed investment region/

industrial area under Delhi-Mumbai

industrial corridor in Haryana ?

(1) Faridabad — Palwal Industrial

area

(2) Rewari — Hisar investment
region

(3) Kundli — Sonipat investment
region

(4) Manesar — Bawal investment

region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/312



[23]

[A]

AN - IV (PART - IV)
YHNINTE (SOCIOLOGY)

3T : R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

¥E fhad ®el “foEH g oTgHd
Rre o) & ufa giedlr &l &
TEhi 87 7

(1) oo

(2) TS

(3) I8 w B
@) el e

92. WHEX I RiE &  HAgER

frafafag & 9 #9-9 fafire @ @&
T g IO § 78 8 7

(1) G&R

(2) GRYOT/EHIT
(3) Henroidy/Efeanedr

(4) 9™

93. AR PV FH IO @&Y fHH 0D

H I9T HT ST 7

(1) 1820 (2) 1860

(3) 1880 4) 1920

Level-3/312

9l1.

92. Out of

Who said, "Science is a method of
approach to the entire empirical

world" ?

(1) Lundberg

(2) Bernard

(3) Goode and Hatt

(4) Karl Pearson

the following which
principles is not associated with
tradition

Indian according to

Professor Yogendra Singh ?
(1) Hierarchy

(2) Holism

(3) Conservatism

(4) Continuity

93. In which decade the commercial

form of Indian Agriculture has

emerged ?
(1) 1820 (2) 1860
(3) 1880 4) 1920



[A]

94.

Frefofed & & &9 3 A9 9o
g’ & Ay gEE 78 s o
TR B AR (TEs) SR B
T & § 7

(1) STiEga-9iio= & qeg gvae

(2) III-Tar TF Saml & 99 G

(3) TE-TH TE AFA-ABE F A

g

(4) 9IEA T Tl b qH T

95. fHfIRed ol § 9 fhaw I8 #7q

g 2 & ‘Rg § wp FEa-gee
T & qo 9Ra Srefeeen @ ‘el
e o B 7

(1) Tdlo &Sie%h T4 THo THo B3k
(2) To Ro IR
(3) Ui s

(4) I e

Level-3/312
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94.

Out of the following which is not
associated with 'three basic relations'
that constitute elementary unit of

kinship ?

(1) relation between spouses

(2) relation between parents and

children

(3) relation between grand parents

and grand children

(4) relation between siblings

95. Out of the following scholars who

have said, 'India has a weak-strong
state' and Indian Economy has its

'rich poor-quality' ?

(1) L. Rudolph and S. H. Rudolph

(2) A.R. Desai

(3) Paul Brass

(4) Rajani Kothari



96. =g & & - g« s %

97. TWFW TEll & ATAR |

J&i®h @ T Ud q@h @ W 9 i

g, 98 78 7

(1) Rl 3% FRE — F<
oS

(2) B TUE SRS — B
e

C 2

(3) B 37 T T BE

R —
g s

(4) TS 3t TR — debol firem

o

EEEIRECa

e fiaied § 9 fe e |

ST ga § 7

(1) ‘E'E"’ Qa- t%a-)

(2) ‘E'E"’, (%-a-) Qa- (ﬁ)

(3) ‘ER]T’, <%-a-r’ ‘ERﬁ’ Qa- Tqe A1
a-rn-r

@) ‘Fr, @%, |, q© ;M aw
Td ‘F8 HE B AR

Level-3/312

[25]

[A]

96. Out of the following which set

comprising name of book and name

of author is not correct ?

(1) Republic of Caste — Anand

Teltumbde

(2) Capital and Ideology — Karl

Marx

(3) Capital in the Twenty First

Century — Thomas Piketty

(4) Age of Anger — Pankaj Mishra

97. According to Ramkrishna Mukherjee

descriptive research deals with

questions of :

(1) "What' and 'How'

(2) 'What', 'How' and "Why'

(3) 'What', 'How', 'Why' and 'What
will it be'

(4) 'What', 'How', "Why', "'What will
it be' and '"What should it be'

P.T.O.



[A]

98.

frefefeg & @ aF-@ Qdwar o=
9% N Fad ‘A e & AN
g oy @ o=s 78 ® ?

(1) sTarT
(2) "™
(3) M-SR

(4) omfe-5ids

Tl Shcd B SR THSITE &l
ey & d & MG & 9w
TN § § Frelteg § O de-a
T ‘T N G o4 (@ I
{5 o) & 999 § T9a ©§ 7

(1) Uiy =)o
(2) ArgHfas =X

(3) fasaSoTeTs TR

(4) foeemTH S T

Level-3/312
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8.

Out of the following which is not the
characteristic of '"Tamil Society's'
three fold division according to

Andre Beteille ?

(1) Brahmins

(2) Kshatriyas

(3) Non-Brahmins

(4) Adi-Dravidas

99. Out of the following which path of

structuring  subject  matter  of
sociology, according to Alex Inkeles,
deals with the question of what does

reason suggest ?

(1) Historical Path

(2) Empirical Path

(3) Analytical Path

(4) Descriptive Path



100.

[
N

Freiiciga & | e T8 @1 Swig

THFST JEoil 4 Yd qUSISTEE ded
el H T H 7 e 7

(1) arfores asifve (diee firend)
(2) “fy Fmfar (difesr A)

(3) FTEESH

(4) W I

ECIES I [ B B i | R L T
T ST fheeT SETeTe & ?

(1) A (TRAHey) STgEE™

(2) JAFAHS (Saeqafed) STIHe™
(3) e (fefenfiea) orgeea™

(4) =TI (TRARIREY) STTEE
FYH MREAX g JEN b HH &
TRl W omaa §, A % Sfew

qREl & Jdies sweMl U I8 R
79 & ?

(1) Fo THo FHuTga
(2) fafer™ o T
(3) @Eo Ho 3R
(4) ol g2

Level-3/312

[27]

[A]

100. Out of the following which group

ot

has not been mentioned by

Ramkrishna Mukherjee in discussing

'Pre-sociological reference groups' ?
(1) Social philosophers

(2) Policy makers

(3) Insiders

(4) Proto-sociologists

The classic study of 'Suicide' by

Emile Durkheim is an example of :
(1) Explanatory research

(2) Evaluative research

(3) Descriptive research

(4) Exploratory research

"The joint family is based on

relations amongst adult males, rather
than on the conjugal bonds between

spouses" is stated by :
(1) K. M. Kapadia
(2) William J. Goode
(3) 1. P. Desai

(4) Tulsi Patel



[A]

103. IFFEE AR fawm & W @A &

Frrem fope feam ?
(1) ST &<

(2) @t A

(3) & WY

(4) 3@m

frefofad & & B8 Yo wd oWy
3 T #| Tadl 4 AN @uaeer
(e TrawHeH) I H TR R s 7

(1) 1920-1940 % A&y uigH! fasg #
Y% AIH IaR-ged|

(2) 1857-1947 & W& R IUHEIENM
7 IUfasER & [I5E ANs gay|

(3) 1750-1920 &% %4 AU § =AUS
i aRadH|

(4) 1990 % 3w 9 [T § =UH
Menfep afkads

Level-3/312
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103. Who has given the law of three

stages of development and evolution ?

(1) Auguste Comte

(2) Karl Marx

(3) Herbert Spencer

(4) Durkheim

Out of the following for which

phenomenon and duration Karl
Polanyi has used the term 'Great

Transformation' ?

(1) Massive economic ups and down

between 1920 and 1940 in

Western World.
(2) Massive struggle against
colonization in India

subcontinent between 1857-1947.

(3) Massive social change in Europe

between 1750 and 1920.

(4) Massive technological change in

World since 1990s.



105. Ul U & SIS fawr

T Tee S=go TMees X A Mietied |
8 e g (WR=e) @ ==f 78 &
g7

(1) NI Teas

(2) qEmIeTEE g

(3) FAHHT THSINMA

(4) IREHAR GRS T

frefefea & & fog aamoemel A
Tl /AR’ (TG &)
W FfT e (Ggeaas Regq)

& T X B fgaeq fHar 2 7

(1) 9 =gl

(2) S Refees
(3) oRg I%

(4) <lo THo HESAT

Level-3/312
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[A]

105. Out of the following which "period'

is not pointed out by Alvin W.
Gouldner in international development

of Western Sociology ?

(1) Sociological Positivism

(2) Sociological Realism

(3) Classical Sociology

(4) Parsonian Structural Functionalism

Out of the following which

sociologist has explained the

difference between 'Natural Hazards'

and 'Manufactured Risks' ?

(1) Noam Chomsky

(2) Joseph Stiglitz

(3) Ulrich Beck

(4) T. L. Friedman



[A]

1017.

g gAYYW B

o e
oAfaa & omr © ?

(1) 9B, 1935
(2) ST, 1931
(3) SHadl, 1947
(4) Sa9, 1950

STEYLAHIT  (STAABIOT) B SR
Freifafaa & & feem & ?

(1) Tl g=d

(2) @M @

(3) T AHae

4) R a™

fFe a¥ H ewfROMAEr (Secularism)

I Tecl g Sl e Biidis &
fofta forar mam o ?

(1) 1851
2) 1751
(3) 1871

(4) 1893

Level-3/312

[30]

107. The term 'Scheduled Caste' appears

for the first time in :

(1) April, 1935

(2) July, 1931

(3) January, 1947

(4) January, 1950

The process of 'Asprashyeekaran'
(Dalitisation) is conceptualized by :
(1) Abbe Dubois

(2) Shyam Lal

(3) Gail Omvedt

(4) Richard Pais

In which year the word Secularism

was firstly coined by George Jacob

Holyoake ?
(1) 1851
(2) 1751
(3) 1871

4) 1893



110. g & TREGHO & HH-a1

da gs ad & uRRefn R |
TR TR B A 78 © 7

(1) SEEE A DR

(2) SHEEAT H g

(3) SHEe Hl fqwTETd

(4) ST B Yo TR

7€ fHEd Fel, aigar fqae &1 Je=

Igagd SIS bl SHAT ThIHBAT I

g3e M o 7

(1) o &ie
(2) Sfo Hio BT
(3) =D

(4) RIS S6T

Level-3/312
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[A]

110. Out of the following which element

of urbanization is mot associated

with urbanization linked with Louis

Wirth Ecological theory ?

(1) Size of population

(2) Density of population

(3) Heterogeneity of population

(4) Migratory tendency of
population
Who has said that preferential

mating has for its main purpose the
strengthening of solidarity within a

tribe ?

(1) Levi Strauss

(2) G.C. Homans

(3) Westermark

(4) Radcliff Brown



[A] [32]

112, Fr=faiEd & & HH-9 9% T &6l
TR HIA T ERT SIS AR
(wd s@) & P sRE B U
fowre & afwfog 72 R °

(1) foel e ® geM 8g ASTSd
ferite

2 @ & # IR 3 U afie
I

(3) AMITp-AiEpcd IR T
BT

(4) gEfss  eani/gede (Qiad
afes)

113. fFr=fofed § @ HiF-a1 amioe &= |
o AR HOR GEit @ e
A § wwfad 78 8 ?

(1) 5 ST
(2) ST V&I
(3) T gern

(4) TFRITT NEnfies 9w
Level-3/312

112. Out of the following which peasant

resistance 1s not part of five fold
division discussed by Kathleen
Gough in context of Colonial India

(and onward) ?

(1) restorative rebellions to drive out

the British

(2) religious movement for the

liberation of a region

(3) socio-cultural reforms &

transformation

(4) social banditry

Which one of the following is not
related to the major role of
Information and Communication

Technology in Social Sector ?
(1) Knowledge provider

(2) Employment provider

(3) Education provider

(4) Traditional technology protector
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[33]

[A]

114. Out of the following which concept

is not associated with materialist theory

of history given by Karl Marx ?
(1) the means of production
(2) the relations of production
(3) roles of ideas in history

(4) the forces of production

"Just Society' will only arise when
there is an 'equalisation of power' so
that full

communication" is stated by :

there 1is and free

(1) Jurgen Habermas

(2) Anthony Giddens

(3) Pitirim Sorokin

(4) Marshall McLuhan

"Somebody who becomes manager

of an enterprise through family

connections rather than through

managerial ability" is an example of :
(1) Forced Division of Labour

(2) Anomic Division of Labour

(3) Managerial Deficiency

(4) Ability Antagonism
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117.

Out of the following which type of
man in sociology is mnot associated

with the ideas of David Riesman ?

(1) The tradition-directed man

(2) The modernity-directed man

(3) The inner-directed man

(4) The other-directed man

Out of the following sociologists

who views each branch of culture as

the product of a 'social field' that is a

community of specialists ?

(1) Raymond Williams

(2) Pierre Bourdieu

(3) Randall Collins

(4) Michel Foucault
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[A]

119. If society is the 'aggregate set of

social relations', then culture is :

(1) the forms of those relations

(2) the content of those relations

(3) the sub-systems of those relations

(4) the dynamism of those relations

According to George Simmel which

statement 18 correct for
characterizing Metropolis, out of the

following ?

(1) It is always a seat of a money

economy.

(2) It 1s dominated by irrational

outlook.

(3) It is a seat of complex inter-

personal interaction.

(4) It is a seat of homogeneous 'life

style'.
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Out of the following which

sociologist considers "The Sociologist

as a destroyer of Myths' ?
(1) Norbert Elias

(2) Karl Mannheim

(3) R. K. Merton

(4) Jean Francois Lyotard

Who has conducted a village study
of Kishangarhi
Pradesh ?

village of Uttar

(1) McKim Marriott
(2) Milton Singer
(3) Robert Redfield

(4) Yogendra Singh

Out of the following, who has

given the concept of 'Imagined

community' ?

(1) Walter Benjamin
(2) Marc Bloch

(3) Benedict Anderson

(4) Eric Hobsbawm
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124.

[A]

Out of the following, which set
comprising the name of concept and
related sociologist's name, is not

correct ?

(1) Jurgen Habermas — Public
Sphere

(2) Manuel Castell — Media Space

(3) Pierre Bourdieu — Journalistic

Field

(4) Anthony Giddens - Post Modern

Society

Out of the following which set
comprising name of author and name

of book is not correct ?

(1) George Lukacs — History and

Class Consciousness

(2) Hugh Collins — Marxism and

Law
(3) Andre Beteille — Society and
Politics in india
(4) Erving Goffman — Acts of

Resistance

P.T.O.
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126.

The 'Educational Despatch' of 1854
which 1s described as 'The Intellectual

Charter of India' is known as :
(1) Wood's Educational Despatch

(2) Anthony McDonnell Despatch
of Education

(3) Marshman Educational Despatch
(4) Hunter Commission's Educational

Despatch

Who has stated that in India and
other South Asian countries the
folklore of corruption embodies
'important social facts' ?

(1) Gunnar Myrdal

(2) Upendra Baxi

(3) Robert Clive

(4) James Cameron

Out of the following which check is
not part of 'Moral Restraint' according

to Thomas Robert Malthus's approach
to population ?

(1) Delay in marriage
(2) Abstinence within marriage
(3) Insufficient food & clothing

(4) Extramarital sexual relations
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129.

[A]

The largest population practising
polyandry is found in the :

(1) North-West Himalayas linked area
(2) East-South Himalayas linked area
(3) North-South Himalayas linked area

(4) East-West Himalayas linked area

Out of the following who have stated
that the "primary aim of sociology of

India is broadly speaking of a

sociology of values" ?

(1) Dumont and Pocock
(2) Majumdar and Madan
(3) Patnakar and Omvedt

(4) Leach and Bailey

Out of the following which concept
enables us to grasp history and
biography and the relations between

the two within society ?

(1) Sociological Ambition
(2) Sociological Imagination
(3) Sociological Positivism

(4) Sociological Empiricism
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132.

'"The Division of Labour' of Emile
Durkheim is an attack on the idea of :

(1) 'Utilitarianism' of Herbert Spencer
(2) 'Alienation' of Karl Marx

(3) 'Zweck-rational' action of Max
Weber

(4) 'Positivistic moral order' of
Auguste Comte
According to Max Weber, the

historical process by which reality is
increasingly mastered by calculation,
scientific knowledge and rational

action is known as :
(1) rationalization
(2) rationality

(3) legitimization
(4) legitimacy

Who has defined "religion as a

unified system of beliefs and

practices related to sacred things" ?
(1) Max Weber

(2) Francis Abraham

(3) Emile Durkheim

(4) S.C. Dube
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135.

=
[=}]

[A]

For a mass of persons, in a given
society who enjoy roughly the same
'station’ is understood as :

(1) Stratum
(3) Office

(2) Position
(4) Identity

Out of the following which feature is
not considered as the function of
University by Daniel Bell ?

(1) Custodian  of
traditions

the cultural

(2) Search for truth through research
& scholarship

(3) Place for generating democratic
dissent

(4) Trains people for professional
occupations

Out of the following which one is not
the feature of 'Post-Industrial Society'
conceptualized by Daniel Bell ?

(1) Intellectual technology based on
information

(2) The
knowledge

primacy of theoretical

(3) The dominance of secondary
sector with semi-skilled factory
workers and engineers

(4) The
service economy with health,

dominant presence of

education, research, leisure etc.
P.T.O.



[A]

138. fr=fafeaa ‘g Rem g (98 @

) # @ R e e S
IS dla= & o: Taml @ey |
e 787 fear B ?

(1) FHET

(2) @l & &Y § WA=

(3) HEQITE TSI

4) [ STEREl & #5 AR
&

Frefoied & & feg R & SR8
S % et qwl o arier
7o e B 7

(1) THLT
(2) GE&pfcarE
(3) or=a:fshan

4) 9949

Freicied § @ g J&® &1 Oe
To Mo 3% 3 7& & ?

(1) 99 UG oG siegd
BERINE|

(2) T8 329 39 e AgFferRH

(3) U= & &9 e
(4) G8< qaR<d T gvsa

Level-3/312

[42]

138.

Out of the following which 'Third
Way Value' for renewed form of
'Social Democracy' has not been

pointed out by Anthony Giddens ?
(1) Equality

(2) Freedom as autonomy

(3) Cosmopolitan homogeneity

(4) No rights without responsibilities

Out of the following which feature
as universal elements of caste has

not been pointed out by Berreman ?
(1) Stratification

(2) Culturalism

(3) Interaction

(4) Deprivation

Out of the following which book is
not authored by A. R. Desai ?

(1) Social background of Indian

Nationalism

(2) Recent Trends in Indian
Nationalism
(3) Peasant Struggles in India

(4) Peasant Movements in India
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[A]

141. Out of the following which paradigm

in sociology is not pointed out by
George Ritzer ?

(1) The Social Facts Paradigm
(2) The Social System Paradigm
(3) The Social Definition Paradigm

(4) The Social Behaviour Paradigm

'When external resources are cut off,
the group must be able to find new
ones' is meaning of out of which
concept given below ?

(1) Pattern maintenance
(2) Integration
(3) Adaptation

(4) Goal attainment

Out of the following classification of
which
discussed by Francis Fukuyama ?

societies classification is

(1) Non-liberal societies and liberal
societies

(2) Low-trust societies and high-
trust societies

(3) Developing and  developed

societies

(4) Non-secular and secular societies
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144.

Out of the following which 'social
category' has not been included by
David Held and his co-writers in

narrating globalization ?
(1) Globalists

(2) Sceptics

(3) Foundationalists

(4) Transformationalists

Out of the following which sociologist
has given the concepts of 'Signifier'

and of 'Signified' in discussing 'sign' ?
(1) John Scott

(2) Ferdinand de Saussure

(3) Paul Routledge

(4) Debbie Taylor

Out of the

'conceptual term' is appropriate for

following  which

Andre Beteille in his statement that
'future of caste system lies not with

religion but with ............. "7
(1) Status
(2) Wealth
(3) Culture

(4) Politics
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1417.

[A]

Out of the following which 'set of
name of book and name of author' is

not correct ?

(1) The Gift of Death : Jacques

Derrida

(2) The Ethics of Psychoanalysis :

Sigmund Freud

(3) The Spirit of Terrorism : Jean

Baudrillard

(4) The Location of Culture : Homi

K. Bhabha

Out of the following which 'orientation'
has not been discussed by Bernard S.

Cohn in analyzing Indian society ?

(1) Orientalist

(2) Missionary

(3) Administrative

(4) Dialectical
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149. Out of the following sociologists,

who is the author of 'The Family,

Socialization and Interaction

Process' ?

(1) Talcott Parsons

(2) Kingsley Davis

(3) Robert Nisbet

(4) John Rex

Out of the following which

sociologist has discussed rapport

formation as 'four stage process'

while discussing 'focused interview' ?

(1) J. Spradley

(2) R.E. Stake

(3) K. R. Popper

(4) D. Spender

Level-3/312
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